AZEER - ERPORE (£f16 FESEER)
<EBER >
Sakis IEH AFR (A)  |[FEREB) [6:5H(A)+(B)
AZER 5,650 5,650
RERK 118,800 118,800
) FEE 32,000 53,400 85,400
& K |PTASE 2,000 6,000 8,000
i« | BB IREE 28,800 28,800
= |EERE 12,000 12,000
EFRITEILE 72,000 72,000
= 39,650 291,000 330,650
BERN A B ERRE 172,200
F BEH FHERE
RERXK 118,800
i 62,400
2 | R |PTARE 6,000
F | (BEREE 28,800
| E | EESE 12,000
BERITRILE 72,000
= 300,000
BENEBRWLERE 181,200
¥ BEH FHERE
R 118,800
RErE: 84,000
3|’
o PTASE 6,000
i |2 BEIREE 28,800
ERESE 12,000
a5t 249,600
BENA RO DERE 130,800
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